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S ithm [5]
Question 3: (5 Marks) Do the following for Quick sort algorith [ \ §
/ 4" ;". ] P ¢ F A

A. Write the algorithm for Quick sort technique. (2) |, Paribinal
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B. Given the following array A, use the partition algorithm to ﬁm:l thé pivet tathdand to divide

A into three subsets. List all intermediate steps and give the upper bound time complexity of
this algorithm. (3) Y= €
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statement;

}

B, while(iow <= high)
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|. What do we analyze about 3

a. Correciness

b, complexity

¢, Amount of space used

d. All of them
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> Which of the following sorting algorithm is of brute force 1ype:
a. Merge sort
b. Selection sarl
¢. Quick sort
d. Insertion sorl

3. The complexity of Polynomial algorithm by brute force is
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b. O(n)

¢. O(nlogn)
d. O(log n)

4. The complexity of the traveling salesn

b. O(n)

¢. O(nlogn)
d. O@*m)
o0 tive search is

5. The con

. ""_"'?."ely breaking down a problem into two or more sub-
snough to be solved directly.
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